
 

 

 
ΑΠΑΝΤΗΣΗ 

Β1. Α)  β 

  Β)  𝑊𝐵 = 𝑈𝛽𝛼𝜌
𝛼𝜌𝜒 − 𝑈𝛽𝛼𝜌

𝜏𝜀𝜆 = 0 
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Β2. Α)  α 

  Β)  Από εμβαδόν 

𝛦1 = 𝛥𝑥1 =
(𝐵 + 𝛽)𝜐

2
=

(20 + 10) ⋅ 30
2

= 450 

|𝐸2| = |𝛥𝑥2| = �
𝛽 ⋅ 𝜐

2
� =

10 ⋅ 30
2

= 150 

𝛥𝑥𝜊𝜆 = 450 − 150 = 300 𝑚 

 

 
ΑΠΑΝΤΗΣΗ 

Δ1. 

𝛵 = 𝜇𝛮 = 0,5 ⋅ 20 = 10 𝑁 
𝛴𝐹𝑦 = 0 ⇒ 𝑁 = 𝑚𝑔 = 20 𝑁 

  



 
Δ2. 

𝛴𝐹 = 𝑚𝑎 ⇒ 𝐹 − 𝑇 = 𝑚𝑎 ⇒ 𝑎 =
30 − 10

2
= 10  𝑚/𝑠2 

𝑥 =
1
2
𝑎𝑡2 =

1
2
⋅ 10 ⋅ 32 = 45 𝑚 

𝑊𝐹 = 𝐹 ⋅ 𝑥 = 30 ⋅ 45 = 1350 𝐽 

Δ3. 

𝛴𝐹 = 𝑚𝑎′ ⇒ −𝑇 = 𝑚𝑎′ ⇒ 𝑎′ = −
10
2

= −5 𝑚/𝑠2 

� 𝑈 = 𝑢0 − |𝑎′|𝑡′
𝑢0 = 𝑎𝑡1 = 10 ⋅ 3 = 30 𝑚/𝑠� ⇒ 𝑡′ =

30
|5| = 6 𝑠 

  Άρα  𝑡𝜊𝜆 = 𝑡 + 𝑡′ = 9 𝑠 

Δ4. 

𝑥𝜊𝜆 = 𝑥1 + 𝑥2 

𝑥2 = 𝑢0𝑡′ −
1
2

|𝑎′|𝑡′2 = 30 ⋅ 6 −
1
2
⋅ 5 ⋅ 62 = 90 𝑚 

  Άρα  𝑥𝜊𝜆 = 135 𝑚 

  


